BHITET1F28 AXNBIT—E

198|wFieEE FERMERGRY ¥ —RAREEE HRARIEASBSHA




ey
(2)
(3
(4)

(5)
(6)
(7)
(8)

(9)

A AL 3 2 3
A K F 5 F 198 =
1T % A B A% T8¢ 1H21H
WM ASE FEoET Bk #HN (FEERERKEEE X —)
Yo A 4 ST6EE FEEMERBATUV Y —KATRHERE
AR AAREREA
T E MR (B R) 8, 667, 000
/3 KL H OEETAS—FEEE ()
## 17 # LHEHPEHE ST ks
o B
(1/ 2) (Bpr : [)
A L # % 1E % 2 [H A5
EEFH 0 -
SEABE 5080101002049 =
T I
EAEE  g0s0001003887| O 100,000 8,500,000
iREZE B =B=E%ERT A
EAEE 3011001006707 O 960,000 AR
MRS £k
SEAES 8080101008547 =
(B) HHRERT (B ¥R
SEAEE 3120001018349 O (00,000 8,490,000
BRAE&H 7o~y s BEEER
SEABE  3010401026045| O 000,000 8,624,000
T A A — TR (BR) _—
sEAZ/E 5080001006700 O 667,670 8,450,000 RIE
) av~ aveXtyshATREE £
HAEE 2060001001667 =
= HT TV Va—a R ) BEZE S50
SEAEE 0010001041323
FEA () ZBEERT SR
EAEE 3180001034126 =
HARRERE (k) =BEERr
ENEE  8010801000041| O 9220001 8,552, 200
(BF) m—hor=r v _—
HEABE 4080001002918 =
TR (BR) .
SENEE 2080101005046 O 100, 000 FEB
IHAGHEETE ()
sEAZE 2080107012001 10> 311,690 9,900,000
(k) SK+ 2T A
EAZE 9080001000652 o 830,000 8,580,000




(1)
(2)
(3)
(4)

A OB OB
%174 A H
W & WA B B
W oB B A 4

A B OR R

% 198 =3
% THE 1H218
FEOEM TR H#HAN (FEEMFRBEE &)

FHCEE FERMPEMEY 7 —ARAREEE
RREHARBEEA

T E A (Bl k)

8,667, 000 M

BRI T A A —FHEE (D)

&
=

(2/ 2)

EEMEEE  STE iR

(B M)

A

#L =1 %1 5 2 [A]

S

RV XWE (BR)

HEE SR
SEABS 6020001013745

7

BADT A H% (K)

F 5 8 SERT
SEABS 8080101001378

(BR) SRMRESELL

HEE R
EAEE 4080001002769

)

F=a— (R) ZBEFEF

ke
w | b | B | G

7

EAES 2010701005897




